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Note — Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper. ' :
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Note :— The maximum marks printed on the question paper are
applicable for the candidates registered with the School
" of Open Learning for The B.A.-(Hons.)//B.Com. (Hons.).
These marks will, however, be scaled down proportionately
in respect of the students of regular colleges, at the
time of posting of awards for compilation of result.

'Attémpt All questions.
. All questions carry equal marks.
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1. (a2 State with Teasons, wheti.lér the foilowing statements
are True or Faise :

(d In social agreements, -the usual presumptions is

that the parties intend to create legal obligations.
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(i) Communication of offer is complete when the

letter of offer is posted.
(fi)) A minor can always plead minority. 9

A tailor, ordinarily residing in Agra, wanted to move

to Delhi during the marriage season, so as to earn

substantial income. He delivered to the Railway company
for transmission a.-package containing his sewing
machine and other ancillary tailoring materials. But there
was inordinate delay in transmission and the package
arrived in Delhi too late for him to take advantage of
the marriage season. What damages can the tailor

recover from the Railway Company and why'? 6
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()  Collateral transactions to an illegal a_gréement do

not become void.

(i) Acceptance can be made ever without knowledge

of the offer.

(i) Old coins may be treated as goods. 9

State with suitable examples the circumstances under
which a minor is bound by his contracts for necessaries
as per Indian Contract Act. Whether a contract of
personal service by a minor is valid ? Explain. 6
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Define the term Lien. Differentiate between particular

and general lien. 3
‘Surety is a favoured debtor.” Discuss, 5

Jewellery was sent by’ A to B on Sale or Return basis.
B plédged the jewellery with C. Discuss the rights and

liabilities of the parties. . 5
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(@) Sub-agent and substituted. agent are interchangeable

terms. Comment. ) . 5
()] Consideration need not be adequate. Discuss. 5

(© L sold to S wheat by sample. The wheat was contained
in 2 pai‘cels and S was given the opportunity of
comparing the bulk of oniy one parcel with Vthe sample. -
S refuses to accept the delivery of theé goods. Can he

be held liable ft_)r breach of contract ? 5
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Define the term *Goods® under the Sale of Goods Act. 5

Who is an unpaid seller ? When can he resell the

goods .? ' .5

“There is no implied condition as to fitness or quality
of the goods sold ? Critically examine this statement. 5
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When can breach of condition be treated as breach of

warranty ? 5

Explain the term Contract of Sale of Goods.- Will an
exchange of cow with a horse and Rs. 500 be covered

under the contract of sale of goods ? 5

‘Right of stoppage of goods in transit is an extension

of unpaid sellers right of lien.” Comment, 5
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Define crossing of a cheque. Discuss the different

kinds of crossings and their effects. ' 5

What is a Bill of Exchange 7 How does it differ from

a Promissory Note ? 5

What are the different ways in which a negotiable

instrument can be negotiated ? How is Negotiation

different from Assignment ? 5
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Distinguish between ‘holder’ and ‘holder in due

course’, 5

What do you mean by the term endorsement ? Discuss

different types of endorsement. 5

A bill of exchange is payable to ‘B’ or order. It is
stolen by ‘C’ who forges ‘B’s endorsement and endorses
it to ‘D’ who takes it for value and in. good faith. Does
‘D acquire good title to it ? Give reasons. 5
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(a) State the objectives of Information Technology Act

2000 : 5
{b) Define the following terms :

() Hacking

(i Digital signature

(i) Key pair. 5
{c) A person knowingly or intentionally conceals, destroys

or alters any computer source, computer program,

computer system or network. Is such an act an offence ?

If so, what is the punishment ? 5
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(a) Write a note on Digital Signature Certificate. 5
(b} Explain the term ‘sub.scriber’ and his _duties. 5

{©) Define Certifying Authority and state his duties. §
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